Exercise answer section 

Chapter 5

A Survey of Probability Concepts

Exercise 5.1

a.
Visits twice a year:
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b.
Visits:
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Exercise 5.2


Proportion of students:
0.60 + 0.20 ( 0.12 = 0.68 

Exercise 5.3

a.
All three: P(3) = (0.10)(0.10)(0.10) = 0.001


b.
None:

P(none) = (0.90)(0.90)(0.90) = 0.729


c.
At least one:
1 ( P(none) = (1 ( 0.729) = 0.271

Exercise 5.4

a.
Both female:
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b.
At least one male:
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Exercise 5.5

a.
Had Heart attack or is heavy smoker:
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b.
Heavy Smoker and no heart attack:
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Exercise 5.6
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Exercise 5.7

Number of different flights:
5 ( 10 = 50

Exercise 5.8

Number of different ways:
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Exercise 5.9

Number of different trip combinations:
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P(p|s) = 0.90








0.675








	P(ns) =0.25 0.25 = 0.25





P(s) = 0.75








0.725





P(p|ns) = 0.20
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